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np-DZ vp-PO
XHIn FeEin vp-AD np-DZ
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/\ N\

FEN Tlu 41 {h)a %B/n



TAETS 5=(2/6)
o FHMmL (EC)

— M AE/Na) TR RS SE R TR %
ANET A
— [S-np %] [P-vp ] [O-np k]
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TAEH =(3/6)
. kLR B

— [S-np 2% J]] [P-vp V] [O-np K]
— [S-np TAE] [S-np HR 53] [P-vp 5E k]
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e 5B TCEEM (PA)
— ECH B A TR R IR AL 4 85 R R R 0
15 1 2 U S RS R A K
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TAEE 5(5/6)
o FELERIE

S NAHGER

— [S-np 2 J]] [P-vp V] [O-np &>
— [S-np >k J]] [P-vp-Pred(2) Y]] [O-np-Arg2 k]

— [S-np T.1E]
— [S-np-Arg2
5E K]

S-np BH G1] [P-vp 58]

TAE] [S-np-Argl HR 1] [P-vp-Pred(2)
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e HIBE X
— PENHBENZHANRER
— FESL A FE AR RVE R A LT OC 2
— a)yEdERIE X
« MHEX
— 1B XA tEFrE (Semantic Role Labeling)
o FREVHS NS ICHIE LAt
* JChoi(2011)
— PlL#sEi¥ (Machine Translation)
o L AHIW, H R EC RN RR
* D Xiong(2012) & T4 i I 1R AH Y
— {8 BHEY (Information Extraction)
* O Etzioni(2011)
— H3§AZ (Question and Answering)
o QAR E, K HT
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HE 54 1) 75 = (1/6)
o R FIEIE

—S, NP, PP, SP, TP
o IR

— X/YEEX\Y

— S\NP: 5

— (S\NP)/NP: T4t

— (S\NP)\PP: #515
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— HI [
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— A [

— Je I

~ i

— 5 1A]2

HES A0 HE A4 77 5K (2/6)

. (Forward Application): X/Y Y=>X

. (Backward Application): Y X\Y=>X

2H & (Forward Composition): X/Y Y/Z>X/Z
%ﬂé\(Backward Composition): Y\Z X\Y2>X\Z
R T (Forward Type-raising): X =2 T/(T\X)

K
R T (Backward Type-raising): X =

T\(T/X)



HES A% HE A4 775X (3/6)

HiER
— (NP/NP)\(S\NP){CI: 2=3}
— ((S\NP)/((S\NP)/NP))/NP{CI: 3=4}
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* SP_HTEE DR
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T
. T
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PN ‘
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o ZEMIHEN
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N
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/\ _— ™~
NP/NP NP [S\NPJ/[S\NP] S\NP
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=55 NP/INP - NP A R S\NP [S\NP]\[S\NP]
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o LERHLENL
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o« THFAIL

— SA+S+<queue>+D+P+0+<stack>
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o« LREERE Y
— WHAIRAS

o« IR

build
______________________________________ I_ S —
: SA 1 S queue | p | stack
| | | |
| NP : NP : : [S\NPJ/NP :
! /\ ! /\ Il ¢ ¢ | W g
! NP/NP NP INP/NP NP | 1 [S\NPJ/[S\NP] [S\NP}J/NP :
l | | |
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» LIREH E
— 5

o« IR
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el L e m- T T T |
: SA | S | queue | P :I stack
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| | /\ | | a
! /\ | I ¢ ¢ | ow g
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: A | 1
I I ! I !
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ST (L/2)

B
I:i}/ftl:/jfte I PA/fIZI I
AL HE S S TEVCAKAF R &
ECKA! PARETL — B %
BEC 98.2%
DEC (i uE %) 96.3%
DEC (igunid @il 96.1%
DEC GigJuAiA4k) 93.6%
TEC (. CMEIEILIT) 99.5%
TEC (H0MiEANBIC) 96.4%
Mt 97.3%
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A
— N L E M T
ECK T PATATIL — B %

BEC 95%

DEC (iR nEm%) 100%

DEC (i JTifdifl) 90%

DEC (ieyu/rialfh) 95%

TEC (HiEIFRIn) 85%

TEC (HHOMEAIRTG) 80%

At 84%
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